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Attempt any three questions in Part A.
Attempt any fwo questions in Pa;n B.
Simple calculator may be used.
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1. () Abdul’s consumption bundle consists of food (F) and Leisure (L). He has 80 hours a

week to allocate between labor and leisure. The price of food is Rupee 1 per unit and
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his wage rate is Rupees 5 per hour. Any wage income above Rupees 100 is subject
to a tax of 50%. Write and dep.ict graphically the budget constraint by specifying the

slop¢ of cach of its segment and also mention coordinates of the intercepts.

Vinita likes both tennis rackets and tennis shoes and would like to consume both. At
the moment, she has many of both and her marginal rate of substitution (MRS) of rackets
for shoes is 3. Unused rackets and shoes may be returned to the store for a refund.
The current price for a racket is Rupees 200 and the price for a pair of shoes is Rupees

100. Is her present consumption bundle an optimum ? Suggest a way for Vinita to make

herself better off.

Mala is very flexible. She consumes x and y. She says, ‘‘Give me x or give me y,
I don’t care, I can’t tell the difference between them.” She is cgrréntly endowed with
8 units of x and 17 units of y. The price of x is 3 times the price of y.- Mala can

trade x and y at the going prices but has no other source of income. How many units

of y will Mala consume ?

For a consumer, the utility function for two goods x and y is given by U(x, y) = 2x

+ 2+ (xy)”z. He earns an income of Rupees 1000 while Px = 50 and Py = 50.

~ Find his optimal consumption cheice. 6+3+2+4=15
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(v).
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Which of the following utility functions satisfies strict convexity ?

@ U, y) = 3x% + (113)?

_ (0 U(x, ) = min (2x + 3, y)

Also, draw the indifference map for each of the above case.
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There are two goods X and Y. In the current year, prices of these goods are (5, 10).
Bela’s consumption bundle in the current year is (25, 25) while her consumption bundle

in the base year was (20, 30). Has she become better off in the current year or

not ? Explain.

Derive the income offer curves and Engel é_urves for commodity X for the following utility

functions, assuming P, =P, = 1.
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Is Strong Axiom of Revealed Preferences (SARP) a necessary and sufficient condition

~ for well behaved consumer preferences ? Explain your answer.

(@)

(i)

@)

(i)

Show how indexing of social security payments for inflation increases the welfare of senior

citizens receiving these social security payments.

A consumer has the utility function : u(C,, C,) = C,.C,, where C, and C, represent
the consumption levels in period 1 and 2 r.espectively. He éarns an income of 1,00,000
in period 1‘ and 1,29,600 in period 2. Assume that the interest rate is 8% per annum
and there is no inflation. If the objective is to optimize tl;e cohsumption choice over time,
find the optimal consumption in each period and determine if an optimizing consumer

is a borrower or a lender in the current period ? 4+5+6=15
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Why might it make sense for a risk averse person to purchase insurance on the one

hand and invest in the stock market, undertaking risk, on the other hand ?

A person expects his future earnings (W) to be worth Rs. 441, when he is healthy.

If he falls sick, his expected future earnings will be Rs. 36. The probability of falling

sick is 2/3. His utility function is U(W) = W12, Suppose that an insurance company

offers to insure the person against loss of earning caused by illness for an actuarially

fair premium.

(@) Wil the person accept the insurance ? Explain in terms of changes in the expected

earnings and expected utility.
() What will be the value of fair insurance if he chooses to buy full insurance ?

(c) Ifthe price of the insurance is 75 paisa for each rupee of promised benefit. How

much insurance will he pufchase ? | 4+11=15
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Part ‘B’
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Is it possible to have diminishing returns to a factor of production and increasing returns

to scale at the same time ? Discuss.

Which of the following production functions depict diminishing rate of technical
substitution between two inputs labor (L) and capital (K) ? How does it affect the

elasticity of substitution between these inputs in each case ?
(@ Q =100 K02 08
b)) Q=120K + 5L

For the prdouction function given by g = €03/ , KO3 . 1.0 where the technical coefficient

is denoted by €03 :

(a) Without actually calculating, find the elasticity of output with respect to capital and

labor respectively.

oth capital and labor grow at the rate of 1% per annum each, compute the annu
b) Both capital and lab h f1% h te th 1

growth rate of output. Explain your answer. ‘ 4+6+5=15
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Is it possible for the input demand to fall if the price of that input falls ? Explain your

answer.

The cost function of a firm is given by C(v, w, q) = q”B K+ w)lx B>0.q
represents the quantity of output and prices of labor and capital inputs are w and v

respectively.
(a) Find the contingent (constant output) demand for labor and capital.

(b)) Use the results in part (a) to find the underlying production function.



(@) Leta firm’s production function be represented by ¢ = 1/L + K . Assume that in perfectly .
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competitive markets, firm buys labor-input at pricé ‘w’, capital input at ‘v’ and sells

the output at price ‘p’.

(@) If market price of labor (w) is higher than the market price of capital (v), then

find the equation of eXpansion path and graphically' repreéent it.

(b) Now if market pﬁce of capital (v) is higher than the market price of labor (w),

then find the equation of expansion path and graphically represent it.
(¢) Find the cost function if v = w. | 4+6+5=15

wwwm%mw%ﬁwmaﬁ%mwmﬁﬁm

fRE ¥ 2 oW W e iR

qaaﬁmwmwC(v,w,q)=q‘/ﬁ(vx+w)l'/aB>0mfww%l

.aﬁqmmqmaﬁasﬁm%ammaivﬁmﬁﬁqﬁm:waﬂ?v

(]

(a) maiﬁﬁﬁmm(ﬁw'm)nﬁmmj

() WM (a) & UNOME F ITEN K& ¢ H fog ofafifed samE wew

LRI

P.T.O.



( 10 ) 8210

i) W ST T W H SeEd W g = L+ K ﬁmw%lmvﬂﬁq

@)

fof ®H w wHa W s, 0 W PS FHE FE T TN @ g g seR

# IR W AR THE FW ) W S

(@) IR =W N IR FWa (w) T F TR wHT (v) ¥ A §, QA faar.

Y H THH 96 ST qen 3@ fa grn guisw

() mt{ﬁ:‘i\ﬂaﬂwﬁﬁa@) mﬁw'm(w)ﬁafw%,?ﬁﬁmﬂ

Y w1 FHHW 9| S a1 59 fa g ez
© ﬁﬁiv=w%,'cﬁamwamﬁm|

A firm has the following production function ¢ = K, L) = L23 K/ _3, where L and
K are the labor and capital inputs per time period respectively. Take p, v and w as

the prices of the product, capital and labor respectively.
(a) Find the firm’s profit function
(b) Using Hotelling’s Lemma, find the short run supply function

(c) Ifv=10,Kis fixed at 100 and shutdown price is 5, find the producer’s surplus

and the profit at this price.



@)

(iid)

( 11 ) 8210

For a firm, the cost function is given by :

C=¢-3>+3¢+1 (g>0)
(a) If the market pri<':e is 3, then find the profit maximizing lelvel of output.
(b) Find the minimum efficient scale of production.

For a firm, the short run supply function is given by ¢ = 20p?® k¥/5w™%/®, where p represents
the price of the output, k, représen_ts the level of capital input that is held constant in

the short run and w represents the wage rate.
(@) Find the short run marginal cost equation.

(b) Find the short run total cost function, if the total fixed cost is 100. 8+4+3=135
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